



**On ternary quadratic Diophantine equation  $6(x^2 + y^2) - 11xy + x + y + 1 = 24z^2$**

<sup>1</sup> S Devibala, <sup>2</sup> MA Gopalan, <sup>3</sup> M Vanitha

<sup>1</sup> Assistant Prof., Department of Mathematics, Sri Meenakshi Govt. Arts College for Women (A), Madurai, Tamil Nadu, India

<sup>2</sup> Professor, Department of Mathematics, SIGC, Trichy, Tamil Nadu, India

<sup>3</sup> M.Phil Scholar, Department of Mathematics, SIGC, Trichy, Tamil Nadu, India

**Abstract**

The ternary quadratic equation  $6(x^2 + y^2) - 11xy + x + y + 1 = 24z^2$  analyzed by its nonzero distinct integer point on it. Employing the integer solutions, a few relations between the solutions are presented. Also, knowing an integer solution formula for generating sequence of solutions are given.

**Keywords:** ternary, quadratic, integer solutions, figurate numbers

**1. Introduction**

The Ternary quadratic equation offers an unlimited field for research because of their variety [1-2]. In particular, one may refer [3-25] for finding points on some specific three dimensional surfaces. This communication concerns with yet another ternary quadratic equation  $6(x^2 + y^2) - 11xy + x + y + 1 = 24z^2$  for determining its infinitely many integer solutions. Employing integral solutions, a few interesting relations among the solutions are given.

**2. Method of Analysis**

Consider the equation

$$6(x^2 + y^2) - 11xy + x + y + 1 = 24z^2 \tag{1}$$

The substitution of linear transformations

$$x = u + v ; y = u - v \quad (u \neq v \neq 0) \tag{2}$$

in (1) leads to

$$(u + 1)^2 + 23v^2 = 24z^2 \tag{3}$$

where  $u + 1 = U$

The above equation is solved through different methods and using (2), different patterns of integer solutions to (1) are obtained.

**Pattern: 1**

Write 24 as

$$24 = (1 + i\sqrt{23})(1 - i\sqrt{23}) \tag{4}$$

Assume

$$z(a, b) = z = a^2 + 23b^2 \tag{5}$$

where a and b are non - zero integers

Using (4) and (5) in (3) and employing the method of factorization, define

$$(U + i\sqrt{23}v) = (1 + i\sqrt{23})(a + i\sqrt{23}b)^2 \tag{6}$$

Equating real and imaginary parts, we have

$$u = a^2 - 23b^2 - 46ab - 1$$

$$v = a^2 - 23b^2 + 2ab$$

Substituting the above values of u and v in (2), the values of x and y are given by

$$\left. \begin{aligned} x &= x(a, b) = 2a^2 - 46b^2 - 44ab - 1 \\ y &= y(a, b) = -48ab - 1 \end{aligned} \right\} \tag{7}$$

Thus (5) and (7) represent non zero distinct integral solutions of (1) in two parameters.

**Properties**

1.  $x(a, 1) + 2z(a, 1) - t_{10, a} \equiv 40 \pmod{41}$
2.  $-6 \times 41 (x(\alpha^2, 1) - 2z(\alpha^2, 1) - t_{10, \alpha^2} + 1)$  is a nasty number.
3.  $x(a, 1) + 2z(a, 1) - 8t_{3, a-1} \equiv 1 \pmod{40}$
4.  $2y(a, 1) + 2z(a, 1) - t_{6, a} \equiv 44 \pmod{95}$
5.  $-t_{10, a} + 8t_{3, a-1} = -a$
6.  $x(a, 1) + 2y(a, 1) + 4z(a, 1) - t_{10, a} - t_{6, a} = -136a + 43$

**Pattern: 2**

Consider (3) as

$$u^2 - z^2 = 23(z^2 - v^2) \tag{8}$$

where  $u + 1 = U$

Write (8) in the form of ratio as

$$\frac{u + z}{23(z + v)} = \frac{z - v}{u - z} = \frac{\alpha}{\beta}, \quad \beta \neq 0$$

which is equivalent to the following two equations

$$\beta u - 23\alpha v + z(\beta - 23\alpha) = 0$$

$$-\alpha u - \beta v + z(\alpha + \beta) = 0$$

On employing the method of cross multiplication we get

$$\left. \begin{aligned} u &= -23\alpha^2 + \beta^2 - 46\alpha\beta - 1 \\ v &= 23\alpha^2 - \beta^2 - 2\alpha\beta \end{aligned} \right\} \tag{9}$$

$$z = -\beta^2 - 23\alpha^2 \tag{10}$$

Substituting the values of u and v in (2), the non - zero distinct integral values of x and y are given by

$$\left. \begin{aligned} x &= x(\alpha, \beta) = -48\alpha\beta - 1 \\ y &= y(\alpha, \beta) = -46\alpha^2 + 2\beta^2 - 44\alpha\beta - 1 \end{aligned} \right\} \tag{11}$$

Thus (10) and (11) represent the nonzero distinct integer solutions of (1) in two parameters.

**Properties**

- $y(\alpha, 1) + 2z(\alpha, -1) + t_{186, \alpha} \equiv 134 \pmod{135}$

- $-6 \times 135 [y(k^2, 1) + 2z(k^2, 1) + t_{186, k^2 + 1}]$  is a nasty number
- $y(\alpha, 1) + 2z(\alpha, 1) + 184 t_{3, \alpha - 1} \equiv 135 \pmod{136}$
- $-6 \times 136 \left[ y(k^2, 1) + 2z(k^2 + 1) + 184 t_{3, k^2 - 1} + 1 \right]$
- $x(\alpha, 1) + y(\alpha, 1) + 3z(\alpha, 1) + 46t_{3, \alpha} + t_{186, \alpha} = -160 \alpha - 3$
- $t_{186, \alpha} - 184 t_{3, \alpha - 1} = \alpha$
- $2y(\alpha, 1) + 4z(\alpha, 1) + t_{186, \alpha} + 184 t_{3, \alpha - 1} = -271 \alpha - 2$

**Pattern: 3**

Write (8) in the form of ratio as

$$\frac{U + z}{z + v} = \frac{23(z - v)}{U - z} = \frac{\alpha}{\beta}, \quad \beta \neq 0$$

which is equivalent to the following two equations

$$\begin{aligned} \beta U - \alpha v + z(\beta - \alpha) &= 0 \\ -\alpha U - 23\beta v + z(\alpha + 23\beta) &= 0 \end{aligned}$$

On employing the method of cross multiplication, we get

$$\begin{aligned} u &= -\alpha^2 + 23\beta^2 - 46\alpha\beta - 1 \quad \text{where } u = U - 1 \\ v &= \alpha^2 - 23\beta^2 - 2\alpha\beta \\ z &= -\alpha^2 - 23\beta^2 \end{aligned}$$

Substituting the values of  $u$  and  $v$  in (2), the non - zero distinct integral values of  $x$  and  $y$  are given by,

$$\left. \begin{aligned} x &= x(\alpha, \beta) = -48\alpha\beta - 1 \\ y &= y(\alpha, \beta) = -2\alpha^2 + 46\beta^2 - 44\alpha\beta - 1 \end{aligned} \right\} \quad (12)$$

Thus, (11) and (12) represent the non - zero distinct integer solutions of (1) in two parameters.

**Properties**

- $y(\alpha, 1) + 2z(\alpha, 1) + t_{10, \alpha} \equiv 46 \pmod{47}$
- $y(\alpha, 1) + 2z(\alpha, 1) + 8t_{3, \alpha} \equiv 39 \pmod{40}$
- $-6 \times 47 [y(k^2, 1) + 2z(k^2 + 1) + t_{10, k^2 + 1}]$  is a nasty number
- $7x(\alpha, 1) + y(\alpha, 1) + 9z(\alpha, 1) + t_{10, \alpha} + t_{16, \alpha} = -389 \alpha - 169$
- $2y(\alpha, 1) + 4z(\alpha, 1) + t_{10, \alpha} + 8t_{3, \alpha} = -87 \alpha - 2$
- $t_{10, \alpha} - 8t_{3, \alpha} = -7\alpha$

**Pattern: 4**

Write (8) in the form of ratio as

$$\frac{U - z}{23(z - v)} = \frac{z + v}{U + z} = \frac{\alpha}{\beta}, \quad \beta \neq 0$$

which is equivalent to the following two equations

$$\begin{aligned} \beta U + 23\alpha v - z(\beta + 23\alpha) &= 0 \\ -\alpha U + \beta v + z(\beta - \alpha) &= 0 \end{aligned}$$

On employing the method of cross multiplication we get

$$\begin{aligned}
 u &= -\alpha^2 + \beta^2 + 24\alpha\beta - 1 \text{ where } u=U-1 \\
 v &= 23\alpha^2 - \beta^2 + 2\alpha\beta \\
 z &= 23\alpha^2 + \beta^2
 \end{aligned} \tag{13}$$

Substituting the values of  $u$  and  $v$  in (2), the non - zero distinct integral values of  $x$  and  $y$  are given by,

$$\left. \begin{aligned}
 x &= x(\alpha, \beta) = 48\alpha\beta - 1 \\
 y &= y(\alpha, \beta) = -2\alpha^2 + 46\beta^2 + 44\alpha\beta - 1
 \end{aligned} \right\} \tag{14}$$

Thus, (13) and (14) represent the non - zero distinct integer solutions of (1) in two parameters.

**Properties**

- $y(\alpha, 1) - 2z(\alpha, 1) + t_{142, \alpha} \equiv 46 \pmod{47}$
- $6 \times 71 [x(k^2, 1) + z(k^2 + 1) - 90 t_{3, k^2-1} + 1]$  is a nasty number
- $x(\alpha, 1) + y(\alpha, 1) - z(\alpha, 1) + t_{142, \alpha} - 90 t_{3, \alpha-1} = 24\alpha - 1$
- $2y(\alpha, 1) - 4z(\alpha, 1) + t_{142, \alpha} + t_{52, \alpha} + t_{42, \alpha} + t_{32, \alpha} + t_{22, \alpha} = -91\alpha - 2$
- $t_{142, \alpha} + t_{52, \alpha} + t_{42, \alpha} + t_{32, \alpha} + t_{22, \alpha} = -3\alpha$

**Pattern: 5**

Write (8) in the form of ratio as

$$\frac{U - z}{z - v} = \frac{23(z + v)}{U + z} = \frac{\alpha}{\beta}, \quad \beta \neq 0$$

which is equivalent to the following two equations

$$\begin{aligned}
 \beta U + \alpha v - z(\beta + \alpha) &= 0 \\
 -\alpha U + 23\beta v + z(23\beta - \alpha) &= 0
 \end{aligned}$$

On employing the method of cross multiplication we get

$$\begin{aligned}
 u &= -\alpha^2 - 23\beta^2 + 46\alpha\beta - 1 \text{ where } u=U-1 \\
 v &= \alpha^2 - 23\beta^2 + 2\alpha\beta \\
 z &= \alpha^2 + 23\beta^2
 \end{aligned} \tag{15}$$

Substituting the values of  $u$  and  $v$  in (2), the non - zero distinct integral values of  $x$  and  $y$  are given by,

$$\left. \begin{aligned}
 x &= x(\alpha, \beta) = 48\alpha\beta - 1 \\
 y &= y(\alpha, \beta) = -2\alpha^2 + 46\beta^2 + 44\alpha\beta - 1
 \end{aligned} \right\} \tag{16}$$

Thus (15) and (16) represent the non - zero distinct integer solutions of (1) in two parameters.

**Properties**

- $y(1, \beta) + 2z(1, \beta) - t_{186, \beta} \equiv 134 \pmod{135}$
- $x(1, \beta) + y(1, \beta) + 3z(1, \beta) - 46 t_{3, \beta} - t_{186, \beta} \equiv 160\beta - 1$
- $6 \times 135 [y(1, \beta) + 2z(1, \beta) - t_{186, \beta} + 1]$  is a nasty number

$$\begin{aligned} \blacksquare \quad & t_{20,\beta} + t_{8,\beta} + t_{28,\beta} + t_{24,\beta} + t_{36,\beta} + t_{12,\beta} + t_{46,\beta} + t_{26,\beta} - t_{186,\beta} = 7\beta \\ & 2y(1,\beta) + 4z(1,\beta) - t_{186,\beta} - t_{20,\beta} - t_{8,\beta} - t_{28,\beta} - t_{24,\beta} - t_{36,\beta} - t_{12,\beta} - t_{46,\beta} - t_{26,\beta} = 263\beta - 2 \end{aligned}$$

**Pattern: 6**

Consider (3) as

$$(u + 1)^2 + 23v^2 = 24z^2 \times 1$$

Let  $U = u + 1$

$$\therefore U^2 + 23v^2 = 24z^2 \times 1 \tag{17}$$

Consider,

$$U^2 + 23v^2 = (U + i\sqrt{23}v)(U - i\sqrt{23}v) \tag{18}$$

$$24 = (1 + i\sqrt{23})(1 - i\sqrt{23}) \tag{19}$$

Write (5) as

$$z^2 = (a + i\sqrt{23}b)^2 (a - i\sqrt{23}b)^2 \tag{20}$$

Write 1 as

$$1 = \frac{(11 + i\sqrt{23})(11 - i\sqrt{23})}{12^2} \tag{21}$$

Using (18), (19), (20), (21) in (17) and employing the method of factorization, define,

$$(U + i\sqrt{23}v) = (1 + i\sqrt{23})(a + i\sqrt{23}b)^2 \times \frac{(11 + i\sqrt{23})}{12}$$

Equating real and imaginary parts, we have

$$\begin{aligned} u &= [-a^2 + 23b^2 - 46ab - 1] \\ v &= [a^2 - 23b^2 - 2ab] \\ z &= z(a,b) = a^2 + 23b^2 \end{aligned}$$

Substituting  $u$  and  $v$  in (4.2) we have

$$\left. \begin{aligned} x &= x(a,b) = -48ab - 1 \\ y &= y(a,b) = -2a^2 + 46b^2 - 44ab - 1 \end{aligned} \right\} \tag{22}$$

Thus, (5) and (22) represent the non - zero distinct integer solutions of (1) in two parameters.

**Properties**

- $y(1,b) + 2z(1,b) - t_{186,b} \equiv 46 \pmod{47}$
- $x(1,b) + y(1,b) + 3z(1,b) - t_{22,b} - t_{186,b} - t_{14,b} - t_{16,b} \equiv 19b - 1$
- $6 \times 47 [y(1,b) + 2z(1,b) - t_{186,b} + 1]$  is a nasty number
- $184 t_{3,b} - t_{186,b} \equiv 183b$
- $2y(1,b) + 4z(1,b) - 184 t_{3,b} - t_{186,b} = 183b - 2$

**Pattern: 7**

Write (3) as

$$U^2 = 24z^2 - 23v^2 \text{ where } U = u + 1 \tag{23}$$

Introducing the linear transformations

$$\left. \begin{aligned} z &= X + 23T \\ v &= X + 24T \end{aligned} \right\} \tag{24}$$

Substituting the values of  $z, v$  and  $u$  in (23) we get,

$$X^2 = U^2 + 552T^2 \tag{25}$$

which is satisfied by

$$\left. \begin{aligned} U &= 552p^2 - q^2 \\ X &= 552p^2 + q^2 \\ T &= 2pq \end{aligned} \right\} \tag{26}$$

Substituting the values of  $U, X,$  and  $T$  in (24) we get,

$$\left. \begin{aligned} u &= 552p^2 - q^2 - 1 \\ v &= 552p^2 + q^2 + 48pq \\ z &= 552p^2 + q^2 + 46pq \end{aligned} \right\} \tag{27}$$

Substituting (24) in (2), we get

$$\left. \begin{aligned} x &= x(p, q) = 1104p^2 + 48pq - 1 \\ y &= y(p, q) = -2q^2 - 48pq - 1 \\ z &= 552p^2 + q^2 + 46pq \end{aligned} \right\} \tag{28}$$

Thus, (29) represent the non zero distinct integer solutions of (1) in two parameters.

**Properties**

- $y(p,1) + 2z(p,1) - t_{2206,p} \equiv 1146 \pmod{1147}$
- $2y(p,1) + 4z(p,1) - 2208 t_{3,p} - t_{2206,p} \equiv 87p - 2$
- $-6 \times 1060 \left[ y(k^2 - 1) + 2z(k^2, 1) - 2208 t_{3,k^2 - 1} + 1 \right]$  is a Nasty number
- $t_{2206,p} - 2208 t_{3,p} - t_{2206,p} = -2207p$

**Note**

Instead of (24), one may also consider the transformations as

$$\left. \begin{aligned} z &= X - 23T \\ v &= X - 24T \end{aligned} \right\} \tag{29}$$

For the choice, the corresponding integer solutions are

$$\left. \begin{aligned} x &= x(p, q) = 1104p^2 - 48pq - 1 \\ y &= y(p, q) = -2q^2 + 48pq - 1 \\ z &= 552p^2 + q^2 - 46pq \end{aligned} \right\} \quad (30)$$

Thus (30) represent the non zero distinct integral solutions of (1) in two parameters.

**Pattern: 8**

It is worth to note that (25) is satisfied by other choices of  $X, T, U$  which is illustrated as below (25) is written as the systems of two equations as follows:

**Table 1**

SYSTEM	X+U	X-U
1	$T^2$	552
2	$2T^2$	276
3	$4T^2$	138
4	$6T^2$	92
5	$8T^2$	69
6	$12T^2$	46
7	$276T^2$	2
8	$138T^2$	4
9	$92T^2$	6
10	$69T^2$	8
11	$46T^2$	12
12	$552T$	T
13	$46T$	2T
14	$69T$	8T
15	$92T$	6T
16	$138T$	4T
17	$276T$	2T

**System: 1**

$$X + U = T^2 ; X - U = 552$$

And solving, we get

$$X = 2k^2 + 276 ; U = 2k^2 - 276 ; T = 2k$$

Substituting the above values of  $X, T, U$  in (24), and employing (2), the corresponding integer solutions to (1) are as follows

$$\left. \begin{aligned} x &= x(k) = 4k^2 + 48k - 1 \\ y &= y(k) = -48k - 553 \\ z &= z(k) = 2k^2 + 276k + 46 \end{aligned} \right\} \quad (31)$$

Thus, (31) represent the non zero distinct integer solutions of (1) in two parameters.

For simplicity, the values of  $x, y, z$  satisfying (1) obtained on solving the systems 2 to 17 are presented below.

**Table 2**

<p><b>System: 2</b></p> $x = x(T) = 2T^2 + 24T - 1$ $y = y(T) = -24T - 277$ $z = z(T) = T^2 + 23T + 138$	<p><b>System: 10</b></p> $x = x(T) = 276K^2 + 48K - 1$ $y = y(T) = -48K - 9$ $z = z(T) = 138K^2 + 46K + 4$
<p><b>System: 3</b></p> $x = x(T) = 4T^2 + 24T - 1$ $y = y(T) = -24T - 139$ $z = z(T) = 2T^2 + 23T + 69$	<p><b>System: 11</b></p> $x = x(T) = 46T^2 + 24T - 1$ $y = y(T) = -24T - 13$ $z = z(T) = 23T^2 + 23T + 6$
<p><b>System: 4</b></p> $x = x(T) = 6T^2 + 24T - 1$ $y = y(T) = -24T - 93$ $z = z(T) = 3T^2 + 23T + 46$	<p><b>System: 12</b></p> $x = x(T) = 1152K - 1$ $y = y(T) = -50K - 1$ $z = z(T) = 599K$
<p><b>System: 5</b></p> $x = x(T) = 32K^2 + 80K + 92$ $y = y(T) = -48K - 26$ $z = z(T) = 16K^2 + 62K + 58$	<p><b>System: 13</b></p> $x = x(T) = 70T - 1$ $y = y(T) = -26T - 1$ $z = z(T) = 47T$
<p><b>System: 6</b></p> $x = x(T) = 12T^2 + 24T - 1$ $y = y(T) = -24T - 47$ $z = z(T) = 6T^2 + 23T + 23$	<p><b>System: 14</b></p> $x = x(T) = 186K - 1$ $y = y(T) = -64K - 1$ $z = z(T) = 123K$
<p><b>System: 7</b></p> $x = x(T) = 276T^2 + 24T - 1$ $y = y(T) = -24T - 3$ $z = z(T) = 138T^2 + 23T + 1$	<p><b>System: 15</b></p> $x = x(T) = 232K - 1$ $y = y(T) = -60K - 1$ $z = z(T) = 144K$
<p><b>System: 8</b></p> $x = x(T) = 138T^2 + 24T - 1$ $y = y(T) = -24T - 5$ $z = z(T) = 69T^2 + 23T + 2$	<p><b>System: 16</b></p> $x = x(T) = 162T - 1$ $y = y(T) = -28T - 1$ $z = z(T) = 94T$
<p><b>System: 9</b></p> $x = x(T) = 92T^2 + 24T - 1$ $y = y(T) = -24T - 7$ $z = z(T) = 46T^2 + 23T + 3$	<p><b>System: 17</b></p> $x = x(T) = 300T - 1$ $y = y(T) = -26T - 1$ $z = z(T) = 162T$

**3. Conclusion**

In this paper, we have presented different patterns of integer solutions to the ternary quadratic equation  $6(x^2 + y^2) - 11xy + x + y + 1 = 24z^2$ . As this Diophantine equations are rich in variety, one may attempt to find integer solutions to other choices of equations along with suitable properties.

**4. Acknowledgement**

The financial support from the UGC, Hyderabad (F - MRP – 5678/15 (SERO/UGC) dated January 2015) for a part of this work is gratefully acknowledged

**5. References**

1. Dickson LE. History of Theory of Numbers and Diophantine Analysis, Dover Publications, Newyork 2005; Vol.2.
2. Mordell LJ. Diophantine Equations, Academic press, Newyork, 1970.
3. Carmichael RD. The Theory of numbers and Diophantine Analysis, Dover Publications, Newyork, 1959.



4. Gopalan MA, Geetha D. Lattice points on the hyperboloid of two sheets  $x^2 - 6xy + y^2 + 6x - 2y + 5 = z^2 + 4$ . *Impct J. Sci. Tech.* 2010; 4:23-32.
5. Gopalan MA, Vidhyalakshmi S, Sumathi G. Lattice points on the hyperboloid of two sheet  $4z^2 = 2x^2 + 3y^2 - 4$ . *The Diophantus J. Math.* 2012; 1(2):09-115.
6. Gopalan MA, Vidhyalakshmi S, Kavitha A. Integral points on the homogeneous cone  $z^2 = 2x^2 - 7y^2$ , *The Diophantus J. Math.* 2012; 1(2):127-136.
7. Gopalan MA, Vidhyalakshmi S, Lakshmi K. Integral points on the hyperboloid of two sheet  $3y^2 = 7x^2 - z^2 + 21$ . *The Diophantus J. Math.* 2012; 1(2):99-107.
8. Gopalan MA, Vidhyalakshmi S, Mallika S. Observation on the hyperboloid of one sheet  $x^2 + 2y^2 - z^2 = 2$ . *Bessel J. Math.* 2012; 2(3):221-226.
9. Gopalan MA, Vidhyalakshmi S, Usha Rani TR, Mallika S, Integral points on the Homogeneous cone  $6z^2 + 3y^2 - 2x^2 = 0$ . *Impct J. Sci. Tech.* 2010; 6(1):7-13.
10. Gopalan MA, Vidhyalakshmi S, Sumathi G. Lattice points on the Elliptic paraboloid  $9x^2 + 4y^2 = z$ , *Advances in Theoretical and Applied Mathematics.* 2012; 7(4):379-385.
11. Gopalan MA, Vidhyalakshmi S, Usha Rani TR. Integral points on the Non Homogeneous cone  $2z^2 + 4xy + 8x - 4z = 0$ . *Global Journal of Mathematics and Mathematical science.* 2012; 2(1):61-67.
12. Gopalan MA, Vidhyalakshmi S, Lakshmi K. Lattice points on the Elliptic paraboloid  $16y^2 + 9z^2 = 4x$ . *Bessel J Math.* 2013; 3(2):137-145.
13. Gopalan MA, Vidhyalakshmi S, Uma Rani J. Integral points on the Homogeneous cone  $3x^2 + 4y^2 = 37z^2$ . *Cayley of Math.* 2013; 2(2):101-107.
14. Gopalan MA, Vidhyalakshmi S, Kavitha A. Observation on the hyperboloid of two sheet  $7x^2 - 3y^2 = z^2 + z(y - x) + 4$ . *International Journal of Latest Research in Science and Technology.* 2013; 2(2):84-86.
15. Gopalan MA, Sivakami B. Integral points on the Homogeneous cone  $z^2 = 3x^2 + 6y^2$ . *IOSR Journal of Mathematics.* 2013; 8(4):24-29.
16. Gopalan MA, Geetha V. Lattice points on the Homogeneous cone  $z^2 = 2x^2 + 8y^2 - 6xy$ . *Indian Journal of Science.* 2013; 2:93-96.
17. Gopalan MA, Vidhyalakshmi S, Maheswari D. Integral points on the Homogeneous cone  $2x^2 + 3y^2 = 35z^2$ . *Indian Journal of Science.* 2014; 7:6-10.
18. Gopalan MA, Vidhyalakshmi S, Uma Rani J. On the Quadratic Diophantine Equationon  $6(x^2 + y^2) - 8xy = 21z^2$ . *Sch. J. Eng. Tech.* 2014; 2(2A):108-112.
19. Meena K, Vidhyalakshmi S, Gopalan MA, Priya K. Integral points on the Homogeneous cone  $3(x^2 + y^2) - 5xy = 47z^2$ . *Bulletin of Mathematics and Statistic Research.* 2014; 2(1):65-70.
20. Gopalan MA, Vidhyalakshmi S, Nivetha S. On the Quadratic Diophantine equation  $4(x^2 + y^2) - 7xy = 31z^2$ . *Diophantus J. Math.* 2014; 3(1):1-7.
21. Meena K, Vidhyalakshmi S, Gopalan MA, Priya K. Integral points on the cone  $4x^2 + 3y^2 = 28z^2$ . *Bulletin of Mathematics and Statistic Research.* 2014; 2(1):47-53.
22. Gopalan MA, Vidhyalakshmi S, Shanthi J. Lattice points on the Homogeneous cone  $8(x^2 + y^2) - 15xy = 56z^2$ . *Sch. Journal of Phy. Math. Stat.* 1(1):29-32.
23. Gopalan MA, Vidhyalakshmi S, Mallika S. On the Ternary Quadratic Diophantine equation  $8(x^2 + y^2) - 15xy = 80z^2$ . *BOMSR.* 2014; 2(4):429-433.
24. Gopalan MA, Geetha T, Hemalatha K. On the Ternary Quadratic Diophantine equation  $5(x^2 + y^2) - 2xy = 20z^2$ . *International Journal of Multidisciplinary Research and Development.* 2015; 2(4):211-214.
25. Gopalan MA, Vidhyalakshmi S, Kavitha A, Mary Madona D. On the Ternary Quadratic Diophantine equation  $3(x^2 + y^2) - 2xy = 4z^2$ . *IJESM.* 2015; 5(2):11-18.